Applying Congruent Triangles — Medians, Altitudes and Bisectors

Homework Section

#1)f BD is a madian of AABC.
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#3)|Find mAABaiW of AABC.

mZABC = 6x + 70

© mABLT m(ABD4wLDBL| @ |1y AB(= )0

et = (i) e
brt= "‘;*30 =30 +70
~ = (4 o
Ax~70 wicARBC = (00

A= O

x=S

.1 Name
#4_h<_é is an altitude bf AABC.
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Draw and label a figure for each statement.
#5) Isosceles triangle ABC, with vertex angle A, where 4D is
an altitude, median, and angle bisector.
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#6) ADEF is a right triangle with right angle at F. FG isa
median of ADEF and GH is the perpendicular bisector of DE.
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#7) Three medians of a triangle intersecting in the interior of
the triangle.
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#8) Altitude FA on the exterior of AEFG.
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Applying Congruent Triangles — Medians, Altitudes and Bisectors

Homework Section 5.1

Answer each question if A(1, 6), B(13, 2), and C(-7, 12) are the
vertices aSAABC
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#9) What are the coor(ﬁwates of the midpoint of AB?
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#10) What is the slope of the perpendicular bisector of AB?
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#11) Points S, T, and U are the midpoints of DE, EF, and DF,
respectively. Find x, y, and z.
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#1) 20

#2) 87

#3) 54

#4) 91

#5) - #8) See key
#9) (7, 9)

#10) 3

o (-29.)

Geometry
Page 2 of 2



